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 �3.?� ��3C ���
�  ���C �^��� %�& ! � .%�N0 �
 1"�� <� T�
 T�.�;� ���
 

�A �2
 ��+�,� ��
 ��0�  �� B�3=��� �^��� %�& ! � .T�
 9
�0 T�� �3b�� !3:
�) (��3.[� �� B�3=��� ���
�  

���C ! � .�
 Q��A0 1�P�� (��
 ��� �
 !3:
�) (��3.[� ��F�
 �� �4��,
 �
 (��
 �
 n/  !3:
�) (��3.[� "3��� 

�� K�I ���
�  (����C ��J3
 ��= �
 �� � .%�N0 �
 1"�� ���D� ��� "3
� U,$ � � � �� �3.?� ��3C 

���
�  ���C �
 (���0 ���D� ��� .2�39 %�& V �� G?$ � %�� ����$� B�3=��� ���
 �
 ��=. "�� 9
�0 �� 

	
�� ��� B�3=��� ���
�  ���C �L��e�� �
 ��4I�
 �b� %�,��
 )����� �������� ��������  ����5�$� ���
 6��& 

����
( ����.   

1.2 .�	$
� �
	: '���
5 ���: !�	"��� :;���3� <�� ���3�"  

�3.?� ��3C ���
�  ���C B�3=��� T�
 ��q� ���A
 �
 �  9
�0 �b�
  :1 (!3:
�) 1(��3.[� 2 (���D� ��� 

1"3
� � 3 (E���� (����J
 ! � .�� 1��3�$ ���
�  ���C B�3=��� ���
 �0�.�
 �� �� ��� H�
 ���$�= 

G ��
 ��
 �
 �����3�
 8�' �� �^��� ���.  

1.1.2. � �% 6	,��= ���	$>� 
� !� �� �� <��  

 �3�= r�' �0�.�
 �� �� S�.�  H�
�� �� ��43  �&�
 .�
 ��5�
 �
�3� � �
 �
����� 

!3:
�) (��3.[� �� ��  H�
���
 G?$ � %�� ����$� 1B�3=��� >��& !3:
�) (��3.[� �� H�
 �'��
 %�& ! � .

V ��
 (�
� �*)� )AIT (���
 "�� ��5�
 %��*� � �
 ��& .�� �:;�
 1T�� �.�  H�
�� �� ��43  !4� � o� 

�� (\ ���,
 �� �
 �34,� ���,
 AIT V �� �c=��; ���,
 ! � ���'�� T�
�$ ��& �
 �A �2
 .���,
 T���
 

(�D3
 !4�&  � (�
� �3.��  ���
 AIT %��*� � �
 ��&.   
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(\ �� �=  �  (�D3
 !4�& T���
 � (�
� �3.�� �� (�J$ �
 � 1���� T���
 ��� H�
  1 IAIT (�J$ 

%���� V ��
 (�
� �*)� ���
 H�
  �   .���4�<� >��& ]011 [�
 (���0 <� 9
�0 �bu
 �� 

B�3=��� ���
�  ���C �� �5$ ��'�C  ��& �
 .9�& .1 K�L��L �:= E�� �����J3� �� (�J$ �
 ���.  

  

9�& .1 .K�L��L �:= �� B�3=��� � >3?@� DRR ������ ���,
 ���?�)� K�:/
 ����J3� "  

2 (� �% ;�@ <��  

�3�= r�' K�I �� H�
 )BAI (�
 ��[ �3,�4
 �
 ������ �� (����J
 1�$��4
 ����� � ����O 9?�
 � 

_�
�
 ! � � V �� ������ �� (����J
 �� ��  H�
�A �2
 �
 ��& .����,
 �
 ! � %�
\ �
 H� � �c=��; 

BAI T�
�$ ! �  �&�
 �
 ���'�� .�
 ����� :  
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�= �� (\ α1 β � γ G���+ (�� ���
 (����J
 1�$��4
 ����� � ����O �
 ��&�
 .����� f��$� g:�@
 

(����J
  �&�
 �
1  (�J$ %���� 9= (����J
 ��A& 	���� 1 �  

��� H�
 >��& K�I ���
 ��� H�
  (�J$ �� �
 ���.  

3 (� �% ��� 6$	= A	��  

>��& !.3) "3
� )PLCI( �� B�3=��� (�J$ �
 ��� �= !.3) 9
�& "3
� ���
 G?$ � %�� ����$� B�3=��� 

�&�
 �
 .�
 ��5�
 �A �2
 "�� 1>��& !.3) T�
�$ "3
� ���
 ��  H�
�
 �34,� !.3) "3
� �� �� �,/�
 

���3'��aI �
 �c=��; ���D� "3
� �� 9= �,/�
 �� �5$ ��'�C ��& �
 .�3�= r�'  (�J$ %���� !.3) 

"3
� ��  H�
 �&�
1 �
 ����� :  

  

�
 H� � >��& ��� 18�' >��& �3.?� ��3C ���
�  ���C B�3=��� )PIDMI (�
 %��*� � �� )4 (�
 ! � 

 %�
\:   

  

�= �� (\  1  �  G���+ !Ac
 ���4� �= 9
�& !����� ��� ���
�  (����C B�3=��� �� �����' �3.?� 

��3C ��&�
 �
 .T�
�' PIDMI 1  ��� �
 (�J$���
�  ���C n3I�� ���3
 ���
 ����� B�3=���  H�
�
 V���& 

���  ��= ����' �� :1 (�� H�� � (��
 �c=��; 8�
 � 6��& �������� �������� �
 ��[ �b�
 �
 "���.= 1�*)� 

�
 (���0 1T�c
 ���L�= ���,
 AIT d 2 (>��& ���  H�
��F�
 ���
 �
 ! � (���\ ���,
 ���?�)� ��J3
d � 

3 ("3��� ��"� !.3) "3
�  �� %D3P$� ����� ���
���C ���
�  ���
 K�@�$�  H�
�
 U��= ���D� ��.  

2.2. 6	B
C ������� ����� ����� 
��� �#���� )DRRs(  

�
 ��5�
 T�
 R�*$ DRRs �:-4
 ��3�
 ���  �
 ��3$ �
 �O�� 9
�) ��.�0�� �� �� DRR ���� ."�� 	
��
 �
 

�$��� ����;�� �3��� ��
 � �� 9$�� ��� ��3&��� ��&�
 .!3'�Y  ���� ����� 	
��
�
 ��[ %���4C �� ���
 

�
�$�
 �D�� !�I v*; n/  9
�) ��.�0� ���
 �6�$� ��� ����� ���� %��*� � �
 ��& .�
 �I�� 1�
 ��A�0� 
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!3'�Y 8�
 ���
 (�J$ %���� (�D3
 Q��) ���.�
 )�
 ���,
 ��/) (! � �= �
 �$��� T���
 ���3$ ��
 

"�DP��I %�& �&�
 .��A�0� !3'�Y ��
 �
 H� � ����;�� DG �
 ��[ %���4C �� �� 9^�4
 �
�$�
 �D�� 

��43  ��� Q��) %��*� � %�& ! � .%�N0 �
 1"�� "�� S��*
 �� �
 (��� ���
 �6�$� ��3&��� %��*� � ��= .

�
 �I�� �
 E��DC ��' %�PJ��
�\ �:
 �6�$� 1 ���,
 !3'�Y )!3'�Y ���A�0� (�� 94$ ��3&��� <3^������' 

)PVS (<� 	
�� �� ���?� ��$ �3&��� �
 9��'��� �+�,� ! �.  

D=�.� �:O� "�� E�� �� >3?@� B�3=��� �)�
 ������ � DRRs 1 �
 %��*� � M�/  R�*$ o� �� �I�� �
 

(�D3
 !3'�Y ! � .�3�= r�'  !3'�Y �;��  DRR �&�
 .�� ����/
 �
 DRRs �;�� �3��� ��
 ! � .�
 

"�� 1T�;  ! � %�& �=R (���0 "�� �
1 !3'�Y �� �
 (��� ���
 �3��� 8�
 ��3&��� �
 ! � %�
\  %��*� �

��= .�
 �I�� 1�
 !3'�Y �O�� �� �6�$� ���
 ��3$� �
 ���
�  ����C ��J3
 ����$1 �
 (���0 T�c
 10 Q���P
 

�6�$� ���
 �
 <� !3'�Y 30٪ ��& �
 ����� .(� <��� �� �A �2
 !3'�Y �
 %��*� � �� E�� ��F�.�;� 

��5�$� �� ! � (��� ��
 )LOLE (��43  Q��) �� �
����� �
 ��= ."�� T�
 �� ��43  9
�& �= ���� �
 � (��
 

�;�� �3��� ���
 ! � .�����
 ��� T�
�' g���� !3'�Y ����' �� �
 ��= :  

  

�= �� (\  1  1 �  (�J$ %���� Q��) 9= �� H�� � o� �� �L��e�� ���  �;�� �3��� ���
 

thi ! � 1 �3��� 8�
 ���.�
 9A) �� �'�+� (��= 94$ 1��
 � Q��) w�$ �;�� �3��� ���
  ! � .  

%�N0 �
 g���� 8�' �=��� !3'�Y V �� (� <��� 1 �� <� g���� %��  "�� 9
�0 �^��� �&! � % .�
 �I�� �
 

(�P3:3
 � 1D$� ��� �C� �L T�
 (� <��� ���,
 ��/) T�,�
 ���
 DRRs ����' �
 ��= 1 !3'�Y �� �
 (��� 

�
 9
�0 !3'�Y ��43  �6�$� ���
 �A��,�  ���\ ! �
 .9
�0 !3'�Y �3��� 8�
 �� �;�� DRR U3
 �� <� %��
 

�$�
� k�� �34,� �
 Q��) DRR ��
 �;�� ����� Q�0�  �� %��
 ���
 ��D�� � 93:2� g���� %�& 

 ! �.  

  

3.2 .E	,F� ���
@ ���� G	� ��  � H� ��  �� '�(% ����� �� �� 
I3 A�B
" DRR  
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�� �A �2
 (���I 18�
 DRRs �
 (���0 ��� H�
 PQ T�
 � �
 (���0 �����
 �*�
 �� �5$ ��'�C �$� %�& .

E�� U3� ��� � o� ��� ���
 9; �:-4
 (���I 8�
 ! � %�& %��*� � �= <� E�� ���A
 �
 (��AI 

Q��4� ���
 ��A& g3�+ �&�
 �
 ]37 .[�� "�� 1���,
 <� �@4$ MNO� %�& �� 1E�� �= �
 %��*� � �� (���I 

8�
 ���& �
 ��I (���I 1���& %��*� � %�& ! � .9�& .2 (�J$ %���� <� ���& �� <� ��43  	���� 

���.�
 ! � .�� "�� 19�& � � � T� �� (���� � !'���� (���� (�J$ �� �
 ���� .�
 H� � T� �� � !'���� 1 

��) 16���� (��� 1�3�=� (��� �3�=�� � 6���� ��' g���� %�& �= �� 9�& 2 ! � %�& %��� U��.$. Q��) T� �� 

)5 (�� U3� �A �2
 ��� � o� ��� (�J$ %��� %�& ! � .(��� �3�=� � �3�=�� V �� P � Q (�J$ %��� %�& .

R � X !
��,
 � o$��=�� V� T�,�$� "3
 �� �  T� �� � !'���� �
 &�
��.  

  

9�& .2 .<� T�c
 ���
 ��*& �� (�& E��  

  

  

  

%�N0 �
 1"�� ���
 !'� � !JC�
 �� �
 1�:I T� �� ��
�� 16���� �� � ����� 1(\  �����& %�& � %���$� 6���� �� 

!'���� 1��= �� � ����� �33a� ����� ��' 1(\  �
 M�& ��� �A �2
 �
  ��&:  

  

�= �� (\  1 !'� 6���� ���[ �  (�J$ %���� !'� 6���� �+�0 �= V �� �A �2
 )7.(  
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�� "�� 1E�� !=�; �
 �:I � G,0 �
 H� � QF���
 (���I Q��) � (���I ���& �
 ��[ �3,�4
 S��$� �.$ 

��& .�� !'� � !JC�
 �
 G,0 �� �5$ �A �2
 (��� �3�=� � �3�=�� �� ���A$� H���
 	
�� ���A
 �
 ! � ���\ 

)5( �&�
 �
 .1oe  �� !'� � !JC�
 �� �
 1�:I �A �2
 6���� �
 %��*� � �� )6 (� )7 (g���� %�& .�� 1!���$ 

S�0 `
�/� �,:; �/,$ T�?*$� �
 H� � �N��� 6���� "3
 T� �� � !'���� �� H�
 �A �2
 %�& ! �.  

�
 H� � �A �2
 ���& �
 E�� (���I 8�
 1 	
�� ��� ���
 �
 9)��; (�$� � ��A& 	���� �A �2
 %�& ! � 

�= �� )8 ((�J$ %��� ! �.  

  

�= �� (\  �  (�J$ %���� !
��,
 �� �
��
 ���& ! � . ��
  H�
 �� (�
� � ! � . � 

 (���I � 6���� H�
  �� (�
� � �
 ��&�
 . 9= �6�$� �
  H�
 �� �:O�' �$�
� �3A& 

���  %�& ! � .�I�� ��&�� �3&�
 �= �� T�; �+�; ��5�$� �
 ��� 6��& ��0�  ���,
 ���?�)� �L��e�� 

���  �
 (���0 B�3=��� �A �2
 �
 ��& .�� "�� 1�� 6��& �������� �������� 9= �6�$� �
 �3b�� �
 ����C .

��3�
 ���  ���
 U��= Q�*:� �
 �I�� !����2
 ��� ��' ��A& 	���� �
 %��*� � �� �����P�� <3�$6 ) �����P��

��3�$6 (S��$� �
 ��& � �� U@
 ���
 ���
 x2
 !'�C ����� ���).  

4.2 .J�� ���$�K� ��L�/� &
� ��M�5 N�	"���  

�
 ��5�
 ! �
 (���\ �+�,�8�
 � ��0�  B�3=��� 1 <� T�
 �:3 � �3:,$ ���� ��I� .�)�
 ������  ����


�+�,� ���.�;� %��*� � %�& ! �  1���
 �
 ! � (���\ �+�,� ��0�  �� B�3=��� �)�
 ������ �I�� �
 f��$� 
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g:�@
 ���,
 ���?�)� �� ����
 ��5�$� �
 1�����1 �
 %��*� � �� 	
�� 	���� T�
�$ �
 M�& ��� T�
 ! � %�& 

]39] [40:[  

  

�= �� (\  �  �����
���� 	���� T�
�$ ���4� � �� "3P$�3
 � ���2$� ����$�� � �:O�' ��2
 �
 H� � %��� 

��� �@���� � ����$�� � ]41] [42 [�A �2
 �
 �&$� .���,
 "3P$�3
 � ���2$� ����$�� � ���
 %��� ��� �:O�' 

�
 G3��� 40 � 20 19��
 ]43 [�� �5$ ��'�C  ! � %�& .�3�= r�' � (�J$ %���� ��?
 �6�$� ���,
 

���?�)� � !3'�Y ����
 �)�
 ������ �&�
 %��
 .�
 �
 �3$��� 1   �3�= �A �2
 ��:  

  

�
 H� �  1 ��+�,� �6�$� �� �)�
 ������ �
 H� � �:O�' ��2
 �
 �$��� �
 ! � ��\ :  

  

%�N0 �
 1"�� QF�; ���
 �5$ Q�
 (�
� ��F�.�;� 6��& �= ���,
 ���?�)� �� B�3=��� �
 H� � "3P$�3
 � 

���2$� ��3�
 ���� � y��� (�
� �
 H� � %��� ��� �@���� z��� %�& ! � .Q�
 1(�
� �� �
 M�& ��� 

�A �2
 %�& ! �] .40] [44.[  

  

�= �� (\ 1� � 2� �
 ��[ T�.�
 ����3a�
 �'��?� 	���� %�& ���4� . �  ���,
 "3P$�3
 �� (�
� 

���� � (�
� y��� ���
 T�
 ���  ��+�,� 6��&  ��&�
 �
 .%�N0 �
 1"��  �  ���2$� ��3�
 (�
� 

���� � y��� (�
� (��
 ���
 T�
 ���  ��+�,� ���4� 6��& .��5�$� �
 ��� !0�  ���� � y���  �(�
� 

��5�$� V ��  �   ��\ ! �
 .Q�
 (�
� ��5�$� B�3=��� �)�
 ������ ! � . !��; ���
 �5$ �� 1 

 1 �
 �$��� �
 (���0 ]45 [(�J$ %��� ��&.  
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�= �� (\ ��� {���� w�$ 6��&  ! � %�& (�3
 .!��; �3��� 6��&  �
 �&�
.  

�
 H� � ]45[1 ���L f�$ ���,
 ���?�)� ���
 �A �2
 �+�,�� B�3=��� �
 %��*� � �� Q�?@J
 T���I  1-3 

]43] [47[ �� �5$ ��'�C ! � %�&.  

T��I 1 .��
���� ��� ���
\ ��P�� �C��$�� ]46[  

  
  

T��I 2 .w�$ 6��& �
 !A4$ !3'�Y ����
  

  
  

T��I 3 . Q�?@J
HN= �)�
 ������  

  

3'�	9� . ���5 �� )��O�5� �����2�� !	�3P � '�	9� ���5 Q�K��� -��R  

1.3�����2�� . !	�3P  

��3�$6 �����P�� E�� ��� ��3�
 ���  �
 H� � 9
��� ��3A[ ]48 [! � .�����P�� <3�$6 )M �����P��

��3�$6 (���
 ��3�
 ���  	
�� ��� %��*� � %�& ! � ."�� 9
�& �  ������� ��3�$6 ���
 9
��� !3�.I :

1K�@�$� 	[�,�
 � U�I �&�
 �
 .�� ��&� <� %�� 9; �� 	
�� ��� ! � � �� !3
 <� ���,
 ���
 (6 ]49 .[



14 

 

"�� %�� 9; �� �
 �A �2
 ����,
 	
��  ���
� ��
 ���) !'�C .o� �� 1(\ ��� E�� K�:/
 K�@�$� ����� �& 

]50.[  

• ������ �����J3� ���
 %��*� � �� ��3�$6 �����P�� ��  (��= �=Q�*:�  

T�� <� T��I �� S�.� QF�; "�.
 �� DRR � B�3=��� �)�
 ������ ���34
 �� "=�
� %��
\ %�& ! � ."�� 

T��I 9
�& (��
 � �A �2
 T�[ ���\�' ��3�
 ���  �&�
 �
 .�
 (���0 1T�c
 ���
 >3?@� <� DRR � <� 

1B�3=��� 3 ���$�= H�
 ���
 �� B�3=��� ���� ��I� �= V �� ���
�  ���C D3$ �
 (���0 <�  H�
���
 G?$ � 

%�� ����$� DRR �^��� %�&  ! � .����� S�.� QF�; �� T��I  �&�
:  

  

�= �� (\ ���	��� (�J$ %���� ����� 9= QF�;1 1

�� ����� ��� H�
 ���$�= ���
 >3?@� DRR ! � .

1"���
��
 )� - 1

� (����� ��� H�
 ���$�= ���
  ! � � ��
���

� ����� DRRs (�J$ �� 

�
 ��� .�
 H� � ������ �� QF�;1 �
 �
 �3$��� ����� 1T�:  cellN1 ���
 �� S���
��= ���
 %��*� � �� 

 �����P����3�$6  �3�= �A �2
 ��:  

  

�
 "3�i.� ��3$ �
 g���� �����  S���
��= ���� .�� "�� 1���,
 S���
��= (�J$ %���� <� ��0 �����
 �= 9
�& 

p�� %��.&  H�
�
 G3��� ��� :1 �  ! �1 �= �� (\ PLI g*@
 B�3=��� i  �


�&�
. 

K�L��L ���I� ��3�$6 �����P�� �� 9�& 3 (�J$ %��� %�& ! � . 

  GA ��را
�	ھ�ی ا����ب 3.1.2

�
 ��5�
 K�@�$� ����� G ��
 �� 94$ �� � %���$� !3�.I ���
 ��3�
 ���  ��3�$6 �����P��1 9)��; ���,
 ���
 

<� !��; k�� �A �2
 �
 ��& .�
 H� � "�� 1Q�A �2
 �� ! � (��� 9)��; ! � ���'�� 528.6887 

Q�� �:3= ! �. T��I 4 (�J$ %���� ��D�� � 93:2� !3 �4; �� ��
���� �=R %�& � ��3�$ ��3�
 ���   �


�&�
 .w�$ 	[�,�
 �
 0.8 �35�� � w�$ U�I �
 0.05 �� �� (6 �35�� %�& ! �. 
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9�& .3 .����.$ ���I� E�� ��3�$6 �����P�� 

T��I 4 .��D�� � 93:2� !3 �4; G ��
 ��3�$6 �����P�� ���
 K�@�$� ��
���� 

  

�
 H� � p���$ 9O�; �� T��I 41 <� Q���� "3
 (�
� �3A& ���  � ��3�$ !)� ��3�
 ���  ��I� ���� .�
 

�I�� �
 p���$ T��I 41 %���$� 50 � %���$� 100 ���
 !)� %��*� � %�& ! � ."�� K�@�$� �����
����  �����P��

��3�$61 �� �4��,
 �
 ���,
 ��D�� � 93:2� �� T��I 41 �
 p���$ `3)� �� ���
 ����� �&.  

2.3'�	9� . ���5 Q�K��� -��R  

�����P�� ��3�
 ���  S�;��� Q��R )PSO (V �� ���= � Q����A�� �'��
 ! � %�& ]51 [- ]53 .["�� E�� 

��3�
 ���  �� ���'� �0�.�I� ����C �� (�C�$�� S���� ��'�C ! � %�& .r�' �3�= �= !3�.I 9
�& Q��R n 

%�� 9; ���$�=  ���� (�J$ �� .E�� PSO �
 %��*� � �� E�� ��� ��I� %�& ! � .�
 H� � )15 (� )16(1 

�����P�� PSO �
 �3��� !3�)�
 ��� �'��?� ���
 1Q��R �� <� �,/�
 ���,
 ��� �3��� f��& �
 ��& .!0�  
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F�.�
 �� (\ �,/�
 ������,
 1�3��� �
� (\ �� D3$ �
 �$��� �
 �*O � �� �
 ���,
 ��� �'��?� <L�= ���
 

��3C�:I �� Q��R �� �� z�� ��q' ���4I �� ����� T�� ������,
 �3��� �
 ��&. �� T�[ �,:; �:O� 1�����P�� 

!0�  � !3�)�
 Q��R ����� �
 ��� %�& �� <� ��3�
 g)�� ��\ ���� ."3$��) �
 ��� �$� � �� )15 (� )16 (

(�J$ %��� %�& ! �.  

  

  

�= �� (\ k � k + 1 �
 1  G3���>��& ����� �:A) � �:�' ���4� d rand1 � rand2 �� ��0 �'��?� �� 

�:O�' ]011 [! � . �  �
  G3���!3�)�
 � !0�  %�R  

��&�
 �
1 d � w = 0.98 G��+ (�� ! � . �3�= r�' � 

 "����
 !0�  %�R � "����
 !3�)�
 �� ����� �:�' ��
 .C1 � 

C2 !
�b ! � .�����  �:= E�� PSO ��  9�&4 (�J$ %��� ! �.  
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9�& .4 .����.$ E��C ��= PSO %��3� ���  E��  

�35�� ��
���� PSO  : K�@�$������
���� PSO  �
M�& ��� ! � :%���$� !3�.I 50 .G���+ !
�b C1 � C2 �� 

�� 2 �
��
 ! �.  

4'#��S� . �����  

�� "�� U@
 <� ��43  (�
�\ 	���� ����$�� � �'��
 %�& ! � .%�N0 �
 1"�� �A �2
 PIDMI  �
�I�� �
 

G���+ �$�� g:�@
 S��$� %�& ! � .�� 1!���$ ������� ��A& 	����  �
�
 9)��; (�$� � ��� H�
 ���$�= �����' 

�3.?� ��3C ���
�  ���C �� B�3=��� S��$� ��� .�� "�� 1���,
 ���
 �3A& ���  ����� 1 �0�.�
 �� �� �  

���$�= H�
 ���
 �� �)�
 ������ B�3=��� V �� ���
�  ���C �^��� %�& ! �.  

1.4. ��8	5 68� ����� RBTS   
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 H�
RBTS ���
 ���I� E�� ���) ���� ����J3� %��*� � �
 ��& ."�� ��43  !4� 9
�& 22 ��3�
� 1��
 ���L 

��3' � <� %�P�4�� �0�' ���a� �&�
 �
 .9�& .5 ��43  !4� ]54 [! � �= 3222 ���J
 �� �� � ���
 

��� 1�$��4
 ����� � ����O �
 93'��� ��
 k�� (�J$ �� �
 ��� .T���I 5 � 6 Q�?@J
 �/,$ � !3:
�) 

(��3.[� (�J$ �� ����
���� �
 ����.  

  

9�& .5. ��43  !4� 	���� RBTS  

T��I 5 .Q�?@J
 ��
 �/,$ � y�� ��
 ���
 ��43  !4�  

  
  

T��I 6 .(�D3
 !4�& � (�
� �3.�� �O��0  

  

  

2.4'(5�F� . PIDMI ��
� ��8	5 68�  
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�b� !3:
�) (��3.[� )�� �5$ �� H�� � (��
(1 �
R�I �� H�
 � !.3) "3
� �� �A �2
 PIDMI �
 �33a� G���+ 

(�� �
����� %�& ! � .9�& .6 � T��I 7 "�� �  9
�0 �b�
 �
 �����' �3.?� ��3C ���
�  ���C B�3=���  ��

(�J$ �
 ��� ."�� �)� ��3C�� "3
 "�� 9
��0 (�J$ �� �
 ��� .�
 (���0 1T�c
 !=�; ��  H�
2 ��  H�
51 

!.3) "3
� �� U��= �
 1��� �
� �
 ��[ V ��
 (�
� �*)� �� U��D'� �
 ���.   

3.4 .
T� U
3 P��% 
� ��� !�	"��� �����  �=
� �� '�(% �����  

����� ��� T�
 B�3=��� w�$ 6��& �� Q��) ��A& 	���� �b�
 ! � .�
 ��5�
 � ��
 �b� w�$ 6��& �� ��3�
 

���  ��43  !4� f�.�
1 !3'�Y G?$ � %�� ����$� "�.
 ! � �� �� ��3' ��� Q��O �
 g���� ��& :  

  

�= �� (\  1  �  (�C����.$ R�*$ ���,
 ���?�)� ���
 f��$� g:�@
 (����J
 9?�
 �
 �� ��3'  �


��&�
 . 1  �  ����� 9= (����J
 1�$��4
 1����� ����O � 9?�
 �
 ��3' ���4� .9�& .7 

���,
 �� 9
�,
 w�$ 6��& �� (�J$ �
 ��� .�I�� ��&�� �3&�
 �= w�$ 6��& �� !3'�Y ����
 �� �� 1!0�   ��I�

���� �
 (���0 1T�c
 w�$ 6��& 9= (�
� ���
 ��3$ 6��& 9
�= ����
 �� 0٪ !��; �3��� 6��&  ��(�J$  �
 ���.  

�
 H� � 9�& 71 U��D'� w�$ 6��& )CHR (���
 �
 U��D'� y�� �
 1��& �
 "�� ���
 ! � �= ��A& 	���� 

�� Q�*:� U��D'� �
 ��� .T��I 7 (�J$ %���� p���$ Q�A �2
 PIDMI ! � .T��I 8 p���$ ��3�
 ���  ���
 

B�3=��� � 92
 DRRs  ��(�J$ �
 ���.  

�� p���$ (�J$ %��� %�& �� T��I 81 (���3
 ��3�$ !'�C �= ���
 6��& ���,
 w�$ 0.9 � 11 �� �� DRRs �� 

��3' S���L k�?��� %��� ! �. 93�� �:O� !5:h ��
 �� ��3' S���L ! � .�� 1	)�� U��D'� ��
 �&�$ �� G?$ � 

%�� ����$� B�3=��� �� ��3' ���L � ��
 "�� ��3' �� �4��,
 �
 �  ��3' �P�� ! ���� �� ���,
 "���F�
 .�� ��  

1�P�� ���
 !0�  6��& ���4
 �� ��.= �� 0.81 ��� �� DRRs �� ��3' ���L � ��P�� 	)�� �� ��3' <� ! �.  

� ��
 �b� �)�
 ������ � DRR �� �� ! � (��� �b� �)�
 ������ � DRR R�*$ �� �� ! � (��� 	���� �
 

�33a� "�� �� 9
�0 � "33�� �/,$ ��3�
 �
����� %�& ! � .G���+  �  �
 G3��� �
 (�D3
 10 � 51 �35�� 

%�& �$� .f�$ (����J
 9
�0 R�*$ 1�$��4
  1 �� r��
 �33a� ! � .R�*$ DRR �
 !A4$ �
 Q��) ��43  

<3� �35�� %�& ! �.  
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�� "�� 1U@
 �� DRRs �
 !3'�Y �3��� �
�J
 �
 (���0 ����� ��3�
 ���  �,�4
 %�& �$� .���
 �.� !J� 

1QF�; !0�  6��& B�3=��� �)�
 ������ �
 (�D3
 0.3 �35�� %�& ! � ."�� r�'  GI�
93�4� �
����� 

�)�
 ������ � �b� R�*$ DRR �� Q�*:� ��A& 	���� ��& �
 .�= �
 M�& ���  ! �:  

  

9�& 6 .>��& ����,
 �b�
 �� �A �2
 PIDMI  

T��I 7. �A �2
 �O��0 PIDMI ���
 �� ��3'  
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T��I 8 .p���$ >3?@� ��'�� ���
 ���,
 w�$ 6��& g:�@
  

  

  

9�& .7 .�b� !0�  6��& B�3=��� �)�
 ������  

  

 �� 6��& w�$ �b� �� !3 �4; 93:2� � ��D�� S��$� ��5�
 �
 1����� ��Q�*:�  !
�b 6��& w�$ 1	���� ��A&0.3 

R�*$ � %�& ��'�C �5$ �� DRR  ��0٪  ��85٪ ! � %�& %��� �33a�. 9�&. 8 R�*$ �b� DRR  �
���,
 Q�*:�  ��

��� �
 (�J$ !3 �4; 93:2� � ��D�� S��$� �
. �� %��*� � U��D'� DRRs  �.$ ��A�
 �� 	���� ��A& Q�*:�

�J@
. K�:/
 �O�� 1"�� �
 %�N0 R�*$ �� DRR  Q�*:� U��= 9)��; �
 ���
��& �
  H� � �
 R�*$ ���,
 "��

! � Q��*�
 ��A& �6������. 93:2� � ��D�� ���
  ��A&��3�
 R�*$ w�$ 1 DRR 37.5٪ ! �.  



22 

 

  

9�& .8 .�b� R�*$ DRR �� Q�*:� ��A& 	����  

9�& .9 (�D3
 Q�*:� �� QF�; 1-4 (�J$ �� �
 ��� 1 �
 (���0 T�c
 �b� R�*$ �)�
 ������ �
 ���,
 Q�*:� �
 

R�*$ !
�b DRR �� 10٪  .�
 �I�� �
 p���$ 9O�; �� "�� 1�)� U��D'� R�*$ �)�
 ������  Q�*:� U��= �
 ���


��& �
 9= .%�N0 �
 1"�� ��4
 �
 �3.?� <��
 B�3=��� 1 ���,
 �
 Q�*:� ����,
 �$�4�� �� R�*$ DRR � R�*$ 

�)�
 ������ !
�b ���4�.  

  

9�& .9 .���,
 Q�*:� ���
 R�*$ �)�
 ������ g:�@
 � QF�; g:�@
 �3.?� ��3C ���
�  ���C B�3=��� 1 

R�*$ DRR 10٪ ! �  
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�
 ��5�
 � ��
 �b� R�*$ DRR � R�*$ �)�
 ������ �� (�.� 1(�
� �
 p���$ 9O�; �� S�.� QF�;  ���� 9�& 

10 �^��� .��� %���  

�
 ��5�
 �4��,
 �b� �J@
 E�� ��3�$6 �����P�� � PSO ���
 9; �:-4
 Q�*:� 19)��;  �� V ��
 ��[ �
 �


�3�= �
 %��*� � ����/
 Q�*:� QF�; S�.� .p���$ ���:.0 ��3�$6 �����P�� (�J$ �� �
 ��� .93�� �:O� �
 

�35�� ��
���� ���
 ��3�$6 �����P�� ! � .�
 "�� 1T�; ���
 PSO �
 �����
���� �� U3� g���� %�& %��*� �  �


�3�= .p���$ 9O�; �� 9; �:-4
 ��3�
 ���  �
 %��*� � �� ��3�$6 �����P�� � PSO ���
 �
 ! � (���\ 9)��; 

���,
 Q�*:� �� T��I 9 �^��� %�& ! � .�I�� �
 "�� 1T��I ��3�$6 �����P�� ���
 � �� p���$ K�:/
 �
�J
 �
 

(���0 PSO �� �:-4
 ��3�
 ���  ����' �
 ��=.  

T��I 9 .p���$ >3?@� ��'�� ���
 ���,
 w�$ 6��& g:�@
  

  

  

  

 9�&10��D�� . � 93:2� !3 �4; �� R�*$ �)�
 ������ � �b� R�*$ DRR �
 ���,
 Q�*:�  
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5 .'	(% ���5 '�1�� V���3 � E	,F�  

p���$ �3A& ���  (�J$ �
 ��� �= !0�  6��& ��� �� 9
��0 �b�
 �
 Q�?@J
 �+�,�B�3=��� � ! � .�� "�� 

1���,
 �����P�� ����J3�� �
 �I�� �
 w�$ 6��& g:�@
 ! � %�& ��I� .��D�� � 93:2� !3 �4; �� !0�  6��& 

�/
�� �3,�4
 "3
 w�$ 6��& � y�� �+�,����� B�3=��� � .�� 1��3�$ U��D'� �+�,�� B�3=��� ���
 �
 Q�*:� 

��J3
 �� ��A& 	���� ��& �
 .%�N0 �
 1"�� >3?@� ��3�
 DRRs Q��33a� w�$ 6��& �� !2� �3b�� ���)  �


��� .���
 w�$ ��.= �� 0.9 16��& ��� �� ���;�� Q���P
 ! � �= �� ��3' T�� 	)�� %�& � ��� �P�� �� ��3' 

S���L ! � 1 �� ���; �= ���
 w�$ 6��& 0.9 �� 1��J3
 92
 ��3�
 �� �� DRRs �� ��3' S���L ! � .1"���
��
 

w�$ 6��& ���
 �
 H� � �6������ ��A& k�?��� %��� ��& .�� "�� 1���,
 <� w�$ 6��& �� %��
 ]0.1 1 0.8 [�
 

�$��� <� %���2
 9
�) T�A) �&�
 ."�� g3[ 	3 � !0�  6��&  ��b� !3'�Y B�3=��� �)�
 ������ �� 

>3?@� DRR  ��U��= �
 ���.   

�
 �I�� �
 p���$ 9O�; �� ��D�� � 93:2� ��  9�&.101 �
 R�*$ ����,
 1���?�)� �� DRRs Q�*:�  �
 U��=

 �
��. "3�i.� p���$ (�J$ �
 ��� �= Q��33a� Q�*:� 9,�4
 �� �3.?� ���
�  ���C B�3=��� ! � .�� "�� 1�� 

�C� �L �3.?� ���
�  ���C B�3=��� !��  G���+ ���
 ���,
  �
 Q�*:��&�
1 "�� G���+ �3b�� �.$ ���C$� .

"�� �)� D3$ �3��� "�� !3�)�� ! � �= �
 ��3$ �
 ���,� � �Z���� � ��� ��3�
 (�
D.� ���
 �� �� �)�
 ������ 

B�3=��� � DRRs ����� .%�N0 �
 1"�� R�*$ 50٪ �)�
 ������ � 10٪ R�*$ DRR �A��,� (�.� ���,
  Q�*:�

75 �O�� R�*$  �������)�
 � R�*$ DRR 15٪ ��� �
 (�J$ �� ."�� ��'�� ���:.0 �� (�
D.� ����� ����� 

�)�
 ������ B�3=��� � DRRs (�J$ �� �
 ��� 1 ���� �L��e�� ���  5 �O�� ��J3
 DRRs �� ��A& %��I 

���.� ���
 U��D'� R�*$ �)�
 ������ �
 25٪ (��
 �3=�� �
 ��43  Q��) �� V���& Q�*:� �'�+� �&�$ �� 

 6��& ��+�,��)�
 ������ �&�
 �
.   

6 .'�	�3 �
	:   

�� "�� 1���,
 <� E�� >3?@� (�
D.� �� 8�
 B�3=��� ����� � 	
��
 ����� %�$�& 	���� �^��� %�& ! � .

E�� �� �:;�
 �� ����J3� %�& 9
�& 9;��
 ��� ! � :1 (B�3=��� �)�
 ������ ����� ���
�  ���C K�@�$� 

������ �� ��� H�
 ���$�= �
 H� � >��& !3:
�) 1(��3.[� >��& ��� �� H�
 � !.3) >��& d"3
� "�� 
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��� H�
 ���$�= �
 �3.?� (�C�$�3C ��D
����
 � DRR � �)�
 ������ B�3=��� (�
D.� ���= �
 �^��� .2 (

����� K�:/
 B�3=��� � T�
 B�3=��� ��F�.�;� ���
 Q�3O�?� � !3'�Y DRRs  ��%��*� � �� �����P�� 

<3�$6 ! �.  

p���$ �3A& ���  �� ��� H�
 RBTS ��43  !4� 	���� (�J$ ��� �= �)�
 ������ B�3=��� � DRRs ���
 

�� %�� �
�$�
 �D�� %�& �$�& %��*� �  .�C� �L %��*� � �� DRRs �
 �3$��� %��
 �����
 �� ��A& 	���� �� ��A�
 

1�J@
 �
�$�
 �D�� R�*$ F�
 DRRs � B�3=��� �)�
 ������ �� ��43  ��� Q��) �� %���\ "�.
 ! � 

9^�4
 ��' ��$�
 U��D'� ��& GI�
 �� Q�*:� .w�$ 6��& ��3�
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